(EiE  HAk] N6 4R 4 A UGS
I FH BRg R X5y BT 1 FlAH 2 FfaH 3EIfH
21 657 1,/ H 1,314 1./ H 1,971 1,/ H
LA 2 776 M./ H 1,552 11,/ H 2,328 M,/ H
5 FRFfH] — 6 HF[H] B 3 896 [,/ H 1,792 1,/ H 2,688 [,/ H
B 4 1,013 1,/H 2,026 4,/ H 3,039 7,/ H
BENHE 5 1,134 1,/ H 2,268 1,/ H 3,402 7,/ H
EiE 1 678 1,/ H 1,356 M,/ H 2,034 9,/ H
B 2 801 M, H 1,602 11, H 2,403 7,/ H
6 ] — 7 IRFfH Y4 3 925 M,/ H 1,850 [,/ A 2,775 1,/ B
P 4 1,049 M,/ H 2,098 1,/ H 3,147M,/H
B 1,172 M,/ H 2,344 1,/ H 3,516 1,/ H
LA 1 753 11,/ A 1,506 1,/ A 2,259 1,/ H
LA 2 890 1,/ A 1,780 1,/ A 2,670 M,/ A
7 Ref] — 8 IR ] Zi 3 1,032 M,/ H 2,064 1,/ H 3,096 1,/ H
B 4 1,172 M,/ H 2,344 M,/ H 3,516 17,/ H
BN 5 1,312 M, H 2,624 4,/ H 3,936 1,/ H
(ENi# R4 ]

TG DFERE 1 FEH 2 ElAH 3 FAH
ABArBmsE (1) 40 M,/ 80 MM,[r] 120 ./[=]
AArBnsE (1) 55 M,/ H 110 [,/ H 165 M,/ H

EBIBERE BN T A 56 1,/ H 112 [,/ H 168 M,/ H
TERIBEREANBRNGL 1 = 76 M H 152 [,/ H 228 4,/ H
18 31 B RE RN 3L 1T 20 [,/ H 40 11,/ H 60 [,/ H
ADL #ERFS & (1) 30M,A 60 M, A 90 M. A
ADL #ERr5in& (1) 60 M, A 120 M,/ A 180 M./ A
BLAF B S et A 40, A 80 M./ H 120 1,/ H
KT AR NN 50 [,/ H 100 4,/ A 150 4,/ A
Y — b ARG 1 22 1,/ H 44 M,/ H 66 M,/ H
SRk B S BRI 1 FITE BN H X 9.2%
PR —47 /5] —94 [1,/[5] —141 [ ,/[A]
ES M E A L A ST FITEHATET X — 1%
SEF Ao IR FE S R FITEHATET X — 1%
(= ofthkra]
Z DA FTE B Bk
oy 515 1,/ &
MRV 100 M4,/ %
Ry MR 20 M,/
FEE 5| 9 R0k 110 1,/ H




[ZE8E EARE (O PR i Y 9 — e ) ] 64 4 AYGET
AT 1 FlAH 2 HlAH 3 HAH
B 1 (HE) 1,798 1,/ H 3,596 1, H 5,394 [,/ A
T 1 ([E%%) 436 1. /[=] 872 1/l 1,308 M./[=]
EHE 2 (AED 3,621 1,/ H 7,242 M,/ H 10,863 [,/ A
TR 2 (A1) 447 1 /18] 894 1 /[l 1,341 [4,/[]
[Z3E nGEEe (T TEmT R — e 2)]
INHE OFELE BXEX Sy 1 FAH 2 FIAH 3 EIAH
H— B R RAAHIINE T 1 W1 88 1, H 176 M./ H 264 M./ H
P— ARG 1 2 PR 2 176 14,/ H 352 1,/ H 528 [,/ H
PR  HEHEE AR N BXHEL- 2 40 M,/ H 80 M./ H 120 9,/ A
BT BARA L M L2 50 1,/ H 100 9,/ A 150 9,/ A
SN B S B YR NEA FrE B2} 9.2% (R6.6~BR#H)
e EAEL - 2 —47M B | =94 [\ | —141,[H]
e R R L R e FITAE BT HE X — 1%
ST kA 1 1A S Jte P AL FTE AL X —1%

(ESE FEARHG (EIESEREATY — 2 2.0 REEILLE) ] (N BUARHIRHE NS 20 &)

1) R R 1 HAH PEREEEN 3 EEH
2.0 BEILL k= 288 M, H 576 M,/ H 864 1M, H
4.5 RFEIL | 360 M,/ H 720 4,/ H 1,080 M,/ H

[EXdE mEE4e (AREIEEir—e 2 2.0 LI E) ] (2.0 B o Ak 41 D)

2.0 R LA BN o FEke 18I 2 BIEH 3 EEH
1= R e AR B b R R S —3M,/H —6M,/H —9M/H
TSk B AS S i A —3M,/H —6M,/H —9M/H
SRl B S LB T N T 26 1,/ A 53 M./ H 791, H
[EbE ERE (EEEEAT— B R 4.5 KL E) ] (4.5 B O FEAEHEIZINE)
4.5 R 2L BN o fEE 1 HIEH 2 FEH 3 EEH
S R e e S R —4 M,/ H —8M,/H —12M/H
S AktoE A IR S —4 M,/ H —8M,/H —12M/H
STk B S BRI 1 331, H 66 M, H 99 M,/ H
[ k<]
Z DA E HE B B4
T 515 /&
HE RV 100 M4,/ #&
Ry MR 20 M,/
FEE 5| 9 R0k 110 1,/ H
PN 400 [4,/[=]

¥ ARSI AR SRR — E X0 TR B OAIR T,




